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— . Hospital records show the following number of days of hospitalization for 20

AWM F(50%)

patients:
57 7 15
21 1% 22 10
10 6 8 18
14 5 7 &
3 B 4 10
a). Construct frequency and relative frequency distributions for the data.(5%)
b). Construct a cumulative relative frequency distribution for the data.(5%)

L1

. A sample of ten stocks on the New York Stock Exchange shows the following
price/earning ratios,

G.4,6,7,3,11,4,6,4,7

Using the above data compute the mean, median, mode, range, variance, and
standard deviation.(10%)

|

- The NCKU Manufacturing Company purchases a certain part from three suppliers
A, B, and €. Supplier A supplies 60% ol parts, 8 30%, and C 10%. The quality of
parts is known to vary among suppliers, with 4, B, and C parts having 0.25%, 1%,
and 2% defective rates, respectively. The parts are used in one of the company’s
major products.

a). What 15 the probability that the company’s major product is assembled with a
defective part?5%)

b). When a defective parl is found, which supplier is the likely source?5%)

7 . A salesperson contacts eight potential customers per day, From past experience we
know that the probability of a potential customer making a purchase is 0.10.
a). What is the probability the salesperson makes exactly two sales in a day? (5%)
b). What is the probability the salesperson makes at least two sales in a day? (5%)

__ﬁ . Censider the following joint probability distribution of x = time of arrival and y =
traffic conditions, where x and v take on values as follows:
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The joint probability distribution of x and v is given below.
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a). Is this joint probability distribution a valid probabilily distribution? Explain. (5%)

b}, Are the random variables x and v independent? Explain. (5%)
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1. (e)ZTEMAE WA WM EH 7 (6%) (b)) ZHRGIEREE(Poisson) 4
A ROBmIBREE 7 (2%)

2. (MIfE e W ir(Statistical Independence ? (2%)

3. (AT ¥ =B R (Conditional Probability Punction) (2%) 7
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16 irARERMBAS R 58 8 EA - —HEFRERITEEZHTE: - TE—ERA
FRE R - BUAETERHR - 16 A NS UMD T (10%)

WP 63 |65 68 67 71 70 73 |76
WS B0 T8 T4 |Th |77 (T2 |68 |81
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3 — BN 2 EILARNE L&MW, B C DR  ReElHR =
FrEKE(E, Z, 7)) - BN PEiTRC EERERAIR AR - FineTs
TR EHERAIT: (10%)

A B c D

i 15 20 13 20
z. 13 18 12 13
A 23 34 20 27
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